

Resolution for Maintenance Under the Illinois Highway Code

Resolution Number Resolution Type



Section Number

	2019-09	Original	19-00000-00-GM
BE IT RESOLVED, by the President and Board of Governing Body Typ	Trustees of	the Villa	ge of
		appropriated the sum of	gency Type
Name of Local Public Agency	io mat more to horozy t	appropriated the ball of	
Forty Thousand Seven Hundred Eighty-Three and 00	0/100	Dollars (<u>\$4</u>	0,783.00
of Motor Fuel Tax funds for the purpose of maintaining streets ar	nd highways under the	applicable provisions of	Illinois Highway Code from
01/01/19 to 12/31/19 . Beginning Date Ending Date			
BE IT FURTHER RESOLVED, that only those operations as liste including supplemental or revised estimates approved in connect funds during the period as specified above.			
BE IT FURTHER RESOLVED, that Village Local Public Agency Typ	of	Hodgkir	ıs
shall submit within three months after the end of the maintenanc available from the Department, a certified statement showing expenditure by the Department under this appropriation, and	e period as stated abov	ve, to the Department of	Transportation, on forms
BE IT FURTHER RESOLVED, that the Clerk is hereby directed to of the Department of Transportation.	to transmit four (4) cerit	tified originals of this reso	olution to the district office
Stephanie Gardner	Village	Clark in and for noid	Village
Name of Clerk Local F	Public Agency Type	Clerk in and for said	Local Public Agency Type
of Hodgkins	in the State of Illinois	, and keeper of the recor	ds and files thereof, as
Name of Local Public Agency provided by statute, do hereby certify the foregoing to be a true,	perfect and complete of	copy of a resolution adop	ted by the
President and Board of Trustees of Governing Body Type Nam	Hodgkins ne of Local Public Agency	at a meetin	g held on
IN TESTIMONY WHEREOF, I have hereunto set my hand and s		y of	
,	Day	Month	, Year
•			
(SEAL)	Clerk Signature	ianco Ga	coner
	•	APPROVED	
	Regional Engineer Department of Trar	nsportation	Date



Request for Expenditure/Authorization of Motor Fuel Tax Funds



Local Public Agency	Туре	County	Section Number
Village of Hodgkins	Village	Cook	19-00000-00-GM
hereby request authorization to expend Motor Fue	l Tax Funds as indic	cated below:	
Purp	oose		Amount
County Engineer/Superintendent Salary & Expense	s		
Contract Construction			
Day Labor Construction			
Engineering			
Engineering Investigations			
IMRF/Social Security			
Maintenance			\$38,500.00
Maintenance Engineering			\$2,283.00
Obligation Retirement			
Other			
Right-of-Way (Itemized on 2nd page)			
		TOTAL	\$40,783.00
Comments	•		
Commence			
		Local Public Agency Official	Date
		Yoelb an	7-8-19
		Title Noel B. Cummings, Village P	resident
		Approv	
		Regional Engineer	
		Department of Transportation	Date
Department of Transportation Use Entered By Date	te		



Maintenance Engineering to be Performed by a Consulting Engineer



Local Public Agency				County	Section Number
Village of Hodgkin	s		Cook	19-00000-00-GM	
The services to be per maintenance operation					d in the estimated cost of the
Investigation of maintenance municipalities body as may 12330) form.	operations to be inc and counties), main reasonably be requi	ne streets or highway luded in the mainter ntenance estimate of red; attendance at p the maintenance ex	nance program; prep f cost and, if applica public letting; prepar	paration of the mainten ble, proposal; attendar ation of the contract, qu	ne local highway authority) of the ance resolution (BLR 14220 for nace at meetings of the governing uotations, and/or acceptance (BLR tted to IDOT within 3 months of
Furnishing the deliver and in	stall proposal and/o	nspection, including r checking material i	nvoices of those ma		act, material proposal and/or requiring engineering field ed firm.
charged per maintenar negotiated preliminary total estimated costs o	nce period. For furni engineering fee per f that group. The ne	shing engineering in centage for each ma gotiated fee for engi	spection, the enging aintenance group sh neering inspection f	eer will be paid a nego nown in the "Schedule for each maintenance o	entage. Only one base fee can be tiated fee percentage. The of Fees" shall be applied to the group shall be applied to the total strued to include supervision of the
		SCH	EDULE OF FEES		
Total of all Maintenance	e Operations:				
= \$20,000 Bas	e Fee	🖂 > \$	20,000 Base Fe	ee = \$1,250.00	
			PLUS		
Maintenance		Engineering		ng Inspection	
Engineering Category	Maximum Fee %	Negotiated Fee %	Maximum Fee %	Negotiated Fee %	Operation(s) to be Inspected
l	NA	NA	NA	NA NA	NA
IIA	2%	2%	1%		
IIB	3%	3%	3%		
111	4%		4%	10/	
IV	5%	5%	6%	4%	
Selection Act 50 (ILC Manual. BY:	S 510/1-510/8) and		d in Chapter 5 of the BY:		Government Professional Service tureau of Local Roads and Streets Date
Local Public Agency S	Liny	7-8-19		M	6/14/9
Noel Cummings, \	Village Presiden	t	James	L. Cainkar Je b.,	
Approved:	007	Dete	P.E. Sea	62-361 REGISTE PROFESSI ENGINE	RED (/ Y
Regional Engineer, ID	JUI	Date		EXPIRES:	NS CONTROL OF THE PARTY OF THE



Local Public Agency General Maintenance



Estimate of Maintenance Costs

Submittal Type Original

Maintenance Period

Local Public Agency	County	Section Number	Beginning	Ending
Village of Hodgkins	Cook	19-00000-00-GM	01/01/19	12/31/19

Maintenance Items

	·							
			Material Categories/					Total
	Maint		Point of Delivery or					Maintenance
Maintenance	Eng	Insp.	Work Performed by					Operation
Operation	Category	Req.	an Outside Contractor	Unit	Quantity	Unit Cost	Cost	Cost
Pavement Repairs	IIA		Stone	TON	30	\$20.00	\$600.00	
	IIA		HMA Patching Mix	TON	60	\$60.00	\$3,600.00	\$4,200.00
Sidewalk, Curb & Gutter	IIA		Sidewalk R&R, 5"	SQ FT	1,200	\$5.00	\$6,000.00	
	IIA		Concrete C&G R&R	FOOT	500	\$4.00	\$2,000.00	\$8,000.00
Roadway Signs	IIB		Replacement Signs	EACH	5	\$100.00	\$500.00	
	IIB		Paint	GAL	80	\$40.00	\$3,200.00	\$3,700.00
Street Lighting	IIB		Labor	HRS	70	\$100.00	\$7,000.00	\$7,000.00
Traffic Control-5 Locations	IIB		Maintenance	MONTH	12	\$1,050.00	\$12,600.00	\$12,600.00
Street Sweeping	IIB		Sweeper Rental (Cont)	MONTH	12	\$250.00	\$3,000.00	\$3,000.00
						Т	otal Operation Cost	\$38,500.00

Estimate of Maintenance Costs Summary

Maintenance	MFT Funds	Other Funds	Estimated Costs
Local Public Agency Labor			
Local Public Agency Equipment			
Materials/Contracts(Non Bid Items)	\$38,500.00		\$38,500.00
Materials/Deliver & Install/Request for Quotations (Bid Items)			
Formal Contract (Bid Items)			
Maintenance Total	\$38,500.00		\$38,500.00
	Estimated Ma	intenance Eng Costs	Summary
Maintenance Engineering	MFT Funds	Other Funds	Total Est Costs
Maintenance Engineering	\$2,283.00		\$2,283.00
Material Testing			
Advertising			
Bridge Inspection Engineering			
Maintenance Engineering Total	\$2,283.00		\$2,283.00
Total Estimated Maintenance	\$40,783.00		\$40,783.00
Remarks			
TOTAL			

Estimate of Maintenance Costs

Submittal Type Original

Maintenance Period

			,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	
Local Public Agency	County	Section	Beginning	Ending
Village of Hodgkins	Cook	19-00000-00-GM	01/01/19	12/31/19
SUBMITTED				
Local Public Agency Official	Date			
Hod Br Genny	7-8-19			
			APPROVED	
Noel B. Cummings, Village President		Regional Engineer		
County Engineer/Superintendent of Highways	Date	Department of Transpor	tation	Date
	11			11